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1. Electron gun section ________
a. provides sharp beam

b. provides poorly focused beam

c. doesn’t provide any beam

d. provides electrons only
2. Deflection system of a CRT consists of ________
a. 4 plates

b. 6 plates

c. 2 plates

d. 8 plates

3. The graphics can be.

a. Drawing

b. Image
c. Simulation

d. Video
4. Types of computer graphics are___

a. Vector and raster

b. Scalar and raster

c. Vector and scalar

d. Vector only
5. The quantity of an image depend on
a. No. of pixel used by image

b. No. of line used by image

c. No. of resolution used by image

d. No. of colors used by image
6. CRT means
a. Common ray tube

b. Cathode ray tube

c. Canon ray tube

d. Commercial ray tube
7. The electron beam in a tube is refreshed_______ times in a second to make video realistic
a. 15 times

b. 25 times

c. 35 times

d. 45 times
8. Computer graphics is used in many DTP software as

a. Photoshop

b. Paint brush

c. Both a & b

d. Photoes
9. LCD are commonly used in
a. Calculators

b. Printer
c. Keyboard
d. Mouse
10. A line can be represented by

a. One point

b. Two points

c. Three points

d. Four points

11. Bresanham circle algorithm uses the approach of
a. Midpoint

b. Point

c. Line

d. Point
12. Cohen-Sutherland clipping is an example of _________________

a. polygon clipping

b. text clipping

c. line clipping

d. curve clipping

13. The Cohen-Sutherland algorithm divides the region into _____ number of spaces.

a. 8

b. 6

c. 7

d. 9

14. The centre region of the screen and the window can be represented as________

a. 0000

b. 1111

c. 0110

d. 1001

15. The 4-bit code of top-left region of the window is______________

a. 1001

b. 1100

c. 0101

d. 1010 
16. The logical ______ of the endpoint codes determines if the line is completely inside the window.

a. AND

b. OR

c. NOT

d. NOR

17. The Cartesian slope-intercept equation for a straight line is

a. y = m.x + c

b. y = c.x + m

c. y = x.x + m

d. y = c + m.m

18. Which algorithm is a faster method for calculating pixel positions?

a. Bresenham’s line algorithm

b. Parallel line algorithm

c. Mid-point algorithm

d. DDA line algorithm

19. In Bresenham’s line algorithm, if the distances d1 < d2 then decision parameter Pk is______

a. Positive

b. Equal

c. Negative

d. Option a or c

20. If the boundary is specified in a single color, and if the algorithm proceeds pixel by pixel until the boundary color is encountered is called

a. Scan-line fill algorithm

b. Boundary-fill algorithm

c. Flood-fill algorithm

d. Parallel curve algorithm

21. The two-dimensional translation equation in the matrix form is

a. P’=P+T

b. P’=P-T

c. P’=P*T

d. P’=p

22. _________ is a rigid body transformation that moves objects without deformation.

a. Rotation

b. Reflection
c. Transition
d. Movement
23. The basic geometric transformations are

a. Rotation

b. Reflection

c. Transition

d. Movement

24. The transformation in which the dimension of an object are changed relative to a specified fixed point is called

a. Translation

b. Scaling

c. Rotation

d.  Reflection

25. The transformation in which an object is moved from one position to another in circular path around a specified pivot point is called

a. Translation

b. Scaling

c. Rotation

d. Reflection

26. We translate a two-dimensional point by adding

a. Translation distances

b. Translation difference

c. Translation points

d. Translation digit
27. To change the position of a circle or ellipse we translate

a. Center coordinates

b. Center coordinates and redraw the figure in new location

c. Outline coordinates

d. Outer Coordinates
28. To generate a rotation , we must specify

a. Rotation angle ϴ

b. Distances dx and dy

c. Rotation distance

d. Rotation by 0 degree
29. The transformation that is used to alter the size of an object is

a. Scaling

b. Rotation

c. Translation

d. Reflection

30. A transformation that slants the shape of objects is called the_____________

a. reflection

b. shear transformation

c. translation

d. scalling
31. The transformation that produces a parallel mirror image of an object are called

a. Rotation

b. Reflection

c. Translation

d. Scaling

32. If an object is rotated through an angle A in clockwise direction, the rotation matrix R= ...............

a. cos A sin A-sin A cos A

b. cos A -sin Asin A cos A

c. sin A cos Acos A sin A

d. sinAcosA-cosAsinB
33. Two consecutive translation transformation t1 and t2 are

a. Additive

b. Multiplicative

c. Subtractive

d. Division
34. After performing X-shear on triangle having A(2,1),B(4,3)C(2,3) with the constant value as 2,the resultant triangle will be______.

a. A(2,5),B(4,1),C(2,7)

b. A(10,3),B(4,5),C(4,1)

c. A(4,1),B(10,3),C(4,3)

d. A(5,2),B(4,11),C(7,2)

35. If the size of triangle needs to be doubled by keeping the center triangle at the same position as that of originaltriangle. then we need to apply ______transformation.

a. Only scaling

b. Only translation

c. Scaling and translation

d. Scaling and Rotation

36. The process of mapping a world window in world coordinate system to viewport are called

a. Transformation viewing

b. Viewport

c. Clipping window

d. Screen coordinate system

37. The types of projection are

a. Parallel projection and perspective projection

b. Perpendicular and perspective projection

c. Parallel projection and Perpendicular projection

d. Parallel Projection Only
38. The types of parallel projection are

a. Orthographic projection and quadric projection

b. Orthographic projection and oblique projection

c. Oblique projection and quadric projection

d. Oblique projection
39. The projection in which the projection plane is allowed to intersect the x, y and z-axes at equal distances  is

a. Isotonic projection

b. Constructive solid geometry projection

c. Isometric projection

d. Back face removal projection

40. In perspective projection, the lines of projection are not parallel. Instead, they all coverage at a single point called?

a. Center of projection

b. projection reference point

c. center of projection or projection reference point

d. interaction point

41. Which color is produced with the green and red dots only

a. Blue

b. Yellow

c. Magenta

d. White

42. The intersection of primary CMYK color produces

a. White color

b. Cyan color

c. Magenta color

d. Black color

43. RGB model are used for

a. Computer display

b. Printing

c. Painting

d. Sacanning
44. CMYK model are used for

a. Computer display

b. Printing

c. Painting

d. Scanning
45. Two dimensional color model are

a. RGB and CMKY

b. RBG and CYMK

c. RGB and CMYK

d. CMYK
46. The intersection of three primary RGB color produces

a. White color

b. Black color

c. Magenta color

d. Blue color

47. The color code “000” is for

a. White

b. Black

c. Blue

d. Green

48. Which of the following color models are defined with three primary colors ?

a. RGB and HSV color models

b. CMY and HSV color models

c. HSV and HLS color models

d. RGB and CMY color models

49. Ray-tracing is an extension of

a. Ray calling

b. Ray casting

c. Ray sampling

d. Ray coherence

50. Which color s produced with the blue and red dots

a. Blue

b. Yellow

c. Magenta

d. White

51. The rectangle portion of the interface window that defines where the image will actually appear are called

a. Transformation viewing

b. View port

c. Clipping window

d. Screen coordinate system

52. Coordinates of window are knows as ..............

a. Screen coordinates

b. World coordinates

c. Device coordinates

d. Cartesian coordinates

53. Coordinates of viewport are known as ............

a. World coordinates

b. Polar coordinates

c. Screen coordinates

d. Cartesian coordinates

54. The region against which an object is clipped is called a ............

a. Clip window

b. Boundary

c. Enclosing rectangle

d. Clip square

55. The process of elimination of parts of a scene outside a window or a viewport is called _____________

a. cutting

b. plucking

c. clipping

d. editing

56. For a point to be clipped, which of the following conditions must be satisfied by the point?

a. xwmin< x <xwmax

b. xwmin= x = xwmax

c. xwmin> x >xwmax

d. ywmin = y = ywmax

57. Which of the following is NOT a type of clipping algorithm used on the raster system?

a. line clipping

b. point clipping

c. area clipping

d. solid clipping

58.  A view is selected by specifying a sub-area of the __________ picture area.

a. half

b. total

c. full

d. quarter

59. Any convenient co-ordinate system or Cartesian co-ordinates which can be used to define the picture is called ___________

a. spherical co-ordinates

b. vector co-ordinates

c. viewport co-ordinates

d. world co-ordinates

60. Which type of clipping is used to clip character strings?

a. text clipping

b. line clipping

c. sentence clipping

d. word clipping

61. _______refers to the common elements of graphics scenes ,often used in graphics package as primitive components

a. Quadric surfaces

b. Wire frame model

c. Composite transformation

d. Frame Model
62. ___________is a simple object space algorithm that removes about half of the total polygon in an image as about half of the faces of objects are back faces

a. Wire frame model

b. Constructive solid geometry methods

c. Isometric projection

d. Back face removal

63. The Bezier curve obtained from the four control points is called a

a. Square Bezier curve

b. Cubic Bezier curve

c. Hectare Bezier curve

d. Rectangle Bezier curve

64. The shape of a  Bezier curve primarily depends upon the

a. Position of control points

b. Distance of control points

c. Position of control panel

d. Position to control unit
65. More the control points of a  Bezier curve,________ quality of the curve

a. Higher

b. Lower

c. Bad

d. worst
66. The surfaces that is blocked or hidden from view in a 3D scene are known as

a. Hidden surface
b. Frame buffer

c. Quad tree

d. Octa tree
67. How many types of hidden surface algorithm are

a. 1

b. 2

c. 3

d. 4

68. The algorithm of hidden surface are

a. Object-space method

b. image-space method

c. Both Object-space method and image-space method

d. Work-space method
69. The method which is based on the principle of comparing objects and parts of objects to each other to find which are visible and which are hidden are called

a. Object-space method

b. image-space method

c. Both Object-space method and image-space method

d. Work Space method
70. The method which is based on the principle of checking the visibility point at each pixel position on the projection plane are called

a. Object-space method

b. image-space method

c. Both Object-space method and image-space method

d. Work Space method

71. The types of hidden surface removal algorithm are

a. Depth comparison, Z-buffer, back-face removal

b. Scan line algorithm

c. DSP method, area subdivision method

d. priority algorithm
72. Which surface algorithm is based on perspective depth

a. Depth comparison

b. Z-buffer or depth-buffer algorithm

c. subdivision method

d. back-face removal

73. Z -buffer algorithm are

a. Simplest algorithm

b. Complex algorithm

c. Largest algorithm

d. Smallest Algorithm
74. The painter algorithm are also called

a. Depth sort algorithm

b. Priority algorithm

c. Both Depth sort algorithm and Priority algorithm

d. Stress algorithm
75. The painter algorithm are based on the property of

a.   Polygon

b. Frame buffer

c. Depth buffer

d. Hexagon
76. The name of a visible surface detection algorithm are

a. Back face detection

b. Back face removal

c. Ray tracing

d. Cathode Tracing
77. The depth sorting method reforms surfaces sorting in________ order of depth

a. Increasing

b. Decreasing

c. Both Increasing&Decreasing

d. Straight
78. The no of control points in a Bezier curve ensures the

a. Jaggies of curve

b. Smoothness of curve

c. Straightness of curve

d. Curve only
79. Coordinate values for each vertex is stored in ....................

a. Coordinate table

b. Vertex table

c. Edge table

d. Location table

80. Identify the methods for Constructive Solid Geometry operations

a. Ray casting

b. Ray tracing

c. Beam penetration

d. Ray sorting

81. GIF stands for ......................

a. Global Image Format

b. Graphics Interchange Format

c. Graphics Image Format

d. Global Image Format
82. Graphics and image processing technique used to produce a transformation of one object into another is called
a. Animation

b. Morphing

c. Half toning

d. Sharpning
83. Gray scale is used in ............................

a. A Monitor that have color capability

b. A Monitor that have no color capability

c. Random scan display

d. Raster scan display

84. When sound is included in the animation, it become

a. Audio

b. Video

c. Both a & b

d. animation
85. Many online animation tools are used to create animation in the form of

a. JPEG image

b. PDF image

c. GIF image

d. Word Format
86. The GIF format is much _________to be downloaded or uploaded over the www

a. Slower

b. Faster

c. Medium

d. Constant
87. Once a file is saved in JPEG format ,some data is lost

a. Temporarily

b. Permanently

c. Both a & b

d. Temporary
88. To convert a continuous sensed data into Digital form, which of the following is required?

a. Sampling

b. Quantization

c. Both Sampling and Quantization

d. Neither Sampling nor Quantization

89. Each image used in sequences by videos is said to be

a. Entity

b. Instance

c. Frame

d. Block

90. Each pixel has ________basic color components

a. Two or three

b. One or two

c. Three or four

d. Two or one
91.  Guns of color present in a computer color screen are

a.  2

b.  3

c.  4

d.  5

92.  A bitmap is .............. bit(s) per pixels.

a.  0

b.  1

c.  2

d.  4

93.  The quality of an image depend on

a.  No. of pixel used by image

b.  No. of line used by image

c.  No. of resolution used by image

d.  No. of rows used by image
94.  What is image?

a.  Picture

b.  Matrix 


c.  Collection
d. Pixels
95.  Which is the image processing technique used to improve the quality of image for humanviewing?

a.  compression

b.  enhancement

c.  restoration

d.  analysis

96.  What is pixel?

a.  Pixel is the elements of a digital image

b.  Pixel is the elements of an analog image

c.  a & b

d. Pixel is the elements of image

97.  The process of extracting information from the image is called as

a.  Image enhancement

b.  Image restoration

c.  Image Analysis

d.  Image compression

98.  A secondary action...

a.  Is the second thing to happen in your animation

b.  Is not recommended it confuses the animation

c.  Is too hard and should be avoided

d.  Adds to the main action or movement, giving it more life

99.  Most objects needs time to accelerate and slow down, this is the principle of .....

a.  Fast in, slow out

b.  Slow upwards slow downwards

c.  Animation

d.  Slow in slow out

100. Computer Graphics models are now commonly used for making ?

a.  Television shows

b. animation
c.  Music

d. Video
